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CHRl: DWOLE QIR AHIA (S A R)
- S2A(SAH) - A - JlEH Hnz2
r 1,330, 180 1,362,563 A32,383
= 110,774 83,000 27,774
< 68,051 43,051 25,000
= ,151,355 1,236,512 A85,157
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z 757,067 787,067 A30,000
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=2 27,774 0 27,774
[ 25,000 0 25,000
2 531,603 531,603 0
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=2 27,774 0 27,774
2 262,217 262,217 0
201 LEre | 27,774 0 27,774
=2 27,774 0 27,774
01 ArR22lH| 27,774 0 27,774
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= 27,774 0 27,774
ZHEA HAAY 125,000 100,000 25,000
< 25,000 0 25,000
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NEFR=Z A2 ARERY 3,463 3,949 A486
2)MSAEX 28 16,200+602F A gr2 1,458 A486
1NQIGIOF A HE MAl K0l Z2& 500+2,0005 1,000 1,250 A250
NEIRSZE UAMZE SAESI & EH(Y) 2 4,766 5,330 A564
2)MEX Z2E 16,2003 1002 A 1,620 1,944 A324
2)Zele EY ZE 240,000 *50H 1,200 1,440 A240
202 O4dl 83,130 97,800 214,670
01 S| 83,130 97,800 214,670
NEEUIRN2Y 23 7,230,000 7,230 8,500 21,270
NelZdEAtSH R2FX =& Z & 50,000x2H+23]x105H 2,000 2,800 A800
N=RUSEFANE NCEH ZE 50,000x2F23x105H 2,000 2,800 A800
NI FTAE &Y Z & 50,000x2H+23]x105H 2,000 2,800 A800
NEMSERIAEH2GRE ZE 50,000%2% *200H 2~ 2,000 2,800 A800
NESMUSEIXY ArA T A} Z & 50,000x2H * 145 H+53] 7,000 8,400 A1,400
DARSZL DA A ZE 50,000:2H*10S H+33) 3,000 4,200 21,200
DX=HE - §ES XA Z & 50,000x2H+105 32 3,000 4,200 21,200
NANXE=SZIEE LHZAL Z & 50,000%x2E *105 2H*33] 3,000 4,200 A1,200
N33EXNEHUOGE SIEE ZE 50,000%2F *253] 2,500 3,000 A500
DEXIHeh A4S It S XI&el Z & 50,000x2H 105 H+4 4,000 5,600 21,600
NEZHUHSHSROUHAILFTE SXEA ZE 50,000:2H*10S H*43] 4,000 5,600 21,600
NESASIAE CHEHDEHE E = Z& 50,000x2F*10=H*2.32] 2,300 2,800 A500
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